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And if their handwriting — 2°1%R1 PR IR 21PRR R21° 27 20> aR)
is verifiable from elsewhere, they are not believed.

OVERVIEW

The Xn>72 stated that if (current) 2>7V testify on a 2”pn 0w that the 0WH 7Y
are 17109, etc. they are not believed. Moo will discuss whether this means
that they are testifying that the qvwn ¥ are still 2°2109 now, or that they
were 0°2100 when they signed the 70w, but now they are o°w>.

= DI PPN ININ 19 ONRT DDV 1MTYY DIIIINY KD 2INPT MTY 19109
And concerning the testimony regarding unqualified witnesses which the
Nn92 mentions; it stated that 27y currently claim that the “vwn »7v [were]
(are) 7709, it does not mean that the current o>7v are testifying that the
“uwn >7v are still 195 (they are relatives or o°vw1); even after the 0w was
signed until (immediately preceding their death') now, for if that were the
case; that they are testifying that the uwn >7v are still 2705 why are the

current 2°7¥ not believed, If the 7vwn >7v were present and the current 27y would
testify that they are mTv> 0*09, they would be believed” and the Tww would be nullified.

The signatures on the 70w cannot be stronger than the qvw: *7v themselves.”
= DY ONY DI NNY IX NN MTY Y9109 NIN

But rather the current o>7v are testifying that the J0w: >7v were 105 then
when they signed the 7vw but as of now, the current 2>7v admit that the >7v

VW are YWD (the relationship was severed; they did 721wn, etc.). Therefore they are
not believed.’

nooIN asks:
= 12193 9919°0Y ©2IIN) PN INAN OIPN 59139 MANN ON)

' See “Thinking it over’ # 1.

*If the current o°7v testify that the Tuws >7v are currently 0°2109, the 7w *7v cannot defend themselves (by
claiming they are 0>7w>) since the testimony is concerning the uwi >7¥ themselves; they are the defendants
(the 727 °%v2). A 127 9¥2 cannot testify as a witness.

? See "X MoOIN.

* The testimony of the current 2>7v is not directed towards the w1 79 per se; for the Tvwn *7v are currently
o' Ww> 0> in all respects. Rather the intent of the current 2>7¥ is to be 9010 the qvw through their testimony.
They are not believed, since there is also a contradictory testimony from the 2vwi >7¥ who claim (by virtue
of their signatures on the 7vw) that it is a w2 "vw. In this case the QW *7v are not viewed as 727 *2¥1 since
the testimony of the current 2>7¥ is not directed towards them.
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And if you will say; that notwithstanding the fact that they are testifying
that the 0w *7v were 2109 (only) initially (and not that they are 9109 now),
why are they not believed that the 20w is 2109, let us believe the current
o7y with a 1an —

- DDV DN 1PTY DIININ IV INY
For the current 279V could have said that the 70wa 7V are still currently
905, If the current o7y would testify that the Tvws *7v are currently 29100 7Y they
would be believed, as Moo stated previously, and the qvw would be 9109. Let us believe

them with this 1» that they were >0 0°7¥ when they signed, and the 20w should be
08,

mooIn asks an additional question in the same vein:
- 550 N SIWINanD DY sN SNV [993 9]

[And similarly by all cases] of two groups of 2°7y that contradict each
other -

= NPT INNPPY YYD ¥ INT 1M ININA 23129110 N ININ
Why is the last group to testify, not believed with a w» that they could
have disqualified the first group of 2°7v by accusing them of (currently)
being robbers!? If the latter group would testify that the former group are o191
(instead of contradicting their testimony)’ they would be believed, and the testimony of
the former group would be discarded. Therefore their actual current testimony should be

believed on account of this 32, and the testimony of the former group should be
discarded.

madIn answers:

$19%30 252 N9 YT TNN PRT M TV XD 027 2IWAT PNYY 13249 99IN)
And the "9 says that (the concept of) a% is not applicable by two 237v
because neither of the group knows what is in the other’s heart. The idea
of a 1n is that we should believe the current claim since he had the option of presenting a
superior claim (where he would have surely been believed). In the case of two D°7¥
however we cannot say that we should believe each 7v because he could have claimed the

> They contradict each other concerning the object of their testimony (one group said he borrowed money
and the other denies it). This is different than 717 where the latter group merely claims that the former
group could not have seen their purported testimony for they were with the latter group at that very same
time in a different place.

® The rule by a1 NX 1 MW nona 2°7yY °nd "N is that neither nd is believed, so the matter remains unresolved
(or we follow the nipin). This is in contrast to 77777 *7¥, where the last N3 is believed.

7 In a sense the second group of 07 is already testifying that the first group is 2°%1; they claim that the
first group is causing someone to lose money unjustly.
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superior claim. It is possible that each 7¥ individually is reluctant to claim the superior
claim, for he is not sure that the other 7v will claim it as well. Perhaps they colluded with
each other only concerning the actual claim that they are presenting. Each 7¥ wants to be
certain that he and his partner (in crime) are offering the same (false) testimony.8

SUMMARY

If 0>7v claim that the "W 79 (of a 0P W) are currently 0°7109, they are
believed. However if they claim they were 0°7109, they are not believed,
even though there is a 2 of XMI%1; because a 1n is not effective by two
Q%7y.

THINKING IT OVER

1. mooin is discussing whether the current 0°7¥ intend to be 019 the 0w 7Y
now, or at the time of the signing.” Seemingly it cannot mean that they wish
to be 010 them now, for the 8n»"a clearly states "'t

2. If a 1 is not effective by two 277y, then why are they believed in the Xw™
(of the mwn and the xn»12)?"!

¥ See 7R "7 2,n° nwoIn [footnote # 7]. The 173 (in the margin) offers two additional answers why there is
no 1 of XN1773. One that it is a ©>7v 2pn2 W (their claim that the QW is 9109 contradicts the wwi *7v).
And two, that the idea that the latter o*7v are believed [to be 201 the former] is a w17°n, for why should you
believe the [latter more than the former]; therefore (since it is a ¥17) it is only believed when the claim of
XN1I7TA is actually made, but as a w» it is ineffective. 1 7"7 2,82 2"2 'own 7w ¥y v,

? See footnote # 1.

12 See v"y1 nX 2",

' See X 11"7 2,7 Mmoo and the 11°93 here in the margin.
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